Sec 3.9
Asymptotic behavior & domain restrictions

Determine the domain of each:
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*use set and interval notation







Asymptotic Behavior

Asymptotes act like boundaries on a

graph.

Un both sides, the graph will
approach either negative or

positive infinity.

First, we |l just describe the graph's

behavior. Later, we |l tin
asymptotes and graph t
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Suggested Practice
Section 3.5, page 406
1,3,5,7
15-20
T R

4} ~? (""001 4)0(41@

1.{x|x#
3.{§||§¢5,x¢-4} (-0~ 4)u(~4,5)U(5;0")
5.{x|x#7,x#-7} (= p0,~7)u(=1,7)v(7,)
7.{x| XER} (*-—09 M)

7 0 141



